
EE 201 —  HW 2-12  Name__________________________________________

Use the node-voltage method to calculate the current flowing in each of the resistors in the circuit below.  
Choose the ground carefully. 

 
 
 
iR1 = ______________________ ; iR2 = ______________________ ; iR3 = ______________________

iR4 = ______________________ ; iR5 = ______________________ ; iR6 = ______________________ 
 
 
 
 
 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.

+–VS

15 V

R2

R3

R4

IS2

2.2 kΩ

3.3 kΩ

10 kΩ

5 mA
IS1

2.2 kΩ10 mA
R1 R5

R6

6.8 kΩ

1.5 kΩ


